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p.5  THb6ATE : VO =TT -2 (VL= 7) - (9 +VTT)
— Vo-VTT f (VI = V7) - (9 + VTT)

p.14 T»5H1017H : GCD (f(z),g(z)) =

— GCD (f(m),f’(w)) =1
p.17  F»b54TE : (HiZ6/53) — B
p.20 Tnrb31TH: deg (d(z)) >0 — deg(d(z)) =20
p.50 B TAT: mil% n TEl-T

~ a=1/n(=1,2,-,n) &LT

p-52 Tt 2 1TH DO (a,lwlaw2 ) a/#’n)l/wlwz “Wn,
— (al Lag’? - .a#’n)l/(w1+W2+---+wn)
p.55  FiEE 3 DROLEL (@® —a® +3)(6° — B>+ 3)(c’ — ¢? 4+ 3)

— (a®—a®+3)(0° -+ 3)(c® —c¢*+3)

p.59 Tb31THE: (IMO/2003(4)) — (IMO/2003(5))
p.70 AXEMH217E:  El Fh (REREZEZFED D)
p.75  LA&FEE3 O llog, 1] + |logg 2] + [logs] +

—  |logy 1] + [logs 2| + [logy 3] + -+
p.80 kAL N pEsak — NEZEOEREE




